
Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Aritmética dos expoentes (expoentes negativos)

(−10) + (−6) =(−2) (−6) − 9 =2

(−9) − (−4) =2 (−9) − (−8) =(−1)

(−1) + 6 = 9 + 4 =

(−3) − (−9) =2 (−7) − (−5) =(−1)

9 + (−5) =(−1) (−4) − (−4) =(−1)

(−6) + 1 =2 (−1) − 5 =2

(−3) + (−4) =2 (−7) + 2 =2

2 + 7 =(−1) 3 − (−5) =2

(−5) − (−2) =2 2 + (−6) =

5 − 3 =(−2) (−1) + (−3) =(−1)
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Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Aritmética dos expoentes (expoentes negativos)

(−10) + (−6) = (− ) = (−5 )(−2)

100
599

100
99

(−6) − 9 = 272

(−9) − (−4) = 852 (−9) − (−8) = = 7(−1)

9
71

9
8

(−1) + 6 = 5 9 + 4 = 13

(−3) − (−9) = 182 (−7) − (−5) = = 4(−1)

7
34

7
6

9 + (−5) = (− ) = (−4 )(−1)

9
44

9
8

(−4) − (−4) = = 3(−1)

4
15

4
3

(−6) + 1 = 372 (−1) − 5 = (−4)2

(−3) + (−4) = 52 (−7) + 2 = 512

2 + 7 = = 7(−1)

2
15

2
1

3 − (−5) = 142

(−5) − (−2) = 272 2 + (−6) = (−4)

5 − 3 = (− ) = (−2 )(−2)

25
74

25
24

(−1) + (−3) = (−4)(−1)
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